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Ay b—i& (v 7—5bHb) 4,400 3,960
Ay b (x> 7—%L) 3,850 3,410

U Ay bEE (U S—HD) 2,860 2,420
Ay bEE (Y S—RL) 2,640 2,200
Ay FANEEREDT (v 7—5HD) 2,640 2,200
Ay FANEEREDT (v v/ —7% L) 2,420 1,980
RN —>a—} 3,740 3,300
v a—F 5,940 5,500
SF4 7L -V 7,480 7,040
oy 8,030 7,590
otk 7 — 5,500 5,060
TY—vh5— 3,740 3,300
74 —Ev 7 (5HKA) 3,300 2,200

25— 74— Y7 (10 BA) 5,500 4,400
74—V 7 (10 KL E) 7,700 6,600
2=F%a7 7,590 7,150
2 =% 2 7RIT 7,040 6,600
~F 7,040 6,600
7 —F IRt 7,700 7,260
7Y —FTa—F 8,140 7,700
7)—F SFTAT7 L -0V 9,680 9,240
GMT ( FB2)ERRAE ) 5,940 5,500
Ya—b ITF4T L -1V Y 7,040 6,600
KAV EN—= (70 }) 1,540 1,100
RA YV EN—=(N—7) 3,740 3,300
FYNIR—= 10,780 10,340
78— 2,640 2,200
7Y H— ) 3,740 3,300
koS —-= 3,740 3,300
AbFL—F8—2¥ 33—} 7,040 6,600

e APL—FR—23IF 4 T A 9,240 8,800
AFL—F =2y 11,440 11,000
B IEY a— b 13,640 13,200
WEBIEI T4 7L 16,940 16,500
WL Ea v 20,240 19,800
MERmIERA >~ b (HiFEA) 2,640 2,200
MWEBIERA ~ b (#HiPH ) 4,840 4,400
MWEBIERA ~ b (HiPEX) 7,040 6,600
J 7 hY—1F X~k 15000 16,940 16,500
J 7 FY—1F X~k 10000 11,440 11,000
/7 bUY—=1F X 5000 5,940 5,500
v bk 5,940 5,500

Z O xo% 7 3,740 3,300
RA VXA D 2,640 2,200
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